

Research Article

Quantization of the Super-BMS₃ Algebra

Yu Yang  and Xing Tao Wang 

School of Mathematics, Harbin Institute of Technology, Harbin 150001, China

Correspondence should be addressed to Yu Yang; 18b912007@stu.hit.edu.cn

Received 1 April 2022; Revised 8 June 2022; Accepted 27 June 2022; Published 14 July 2022

Academic Editor: Francesco Toppan

Copyright © 2022 Yu Yang and Xing Tao Wang. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

In this article, we study quantization of super-BMS₃ algebra W . We quantize W by the Drinfel'd twist quantization technique and obtain a class of noncommutative and noncocommutative Hopf superalgebras.

1. Introduction

Lie (super-)bialgebras as well as their quantizations provide important tools in searching for solutions of quantum Yang-Baxter equations and in producing new quantum groups [1, 2]. The notion of Lie bialgebras was introduced by Drinfel'd in 1983 [1, 3]. In 1992, the problem that whether there exists a general approach to quantize all Lie (super-)bialgebras was posed by Drinfel'd in [4]. Later, a positive answer was given by Etingof and Kazhdan in [5], but they did not present a uniform method to realize quantizations for all Lie (super-)bialgebras. Since then, the study of quantizations of Lie (super-)bialgebras has attracted more and more attention. A growing number of people studied the structure theory of Lie (super-)bialgebras, such as [6–11].

The “quantum group” appeared in the work of Drinfel'd as a deformation of the universal enveloping algebra of a Lie algebra in the category of Hopf algebras. In the theory of Hopf algebras and quantum groups, there exist two standard methods to yield new bialgebras from old ones. Twisting the product by a 2-cocycle but keeping the coproduct unchanged is one way; using a Drinfel'd twist element to twist the coproduct but preserving the product is the other approach. Constructing quantizations of Lie bialgebras is an important approach to producing new quantum groups [1, 2, 12].

As an application of quantum groups, quantizations of Lie (super-)bialgebra structures were intensively investigated. Recently, some authors have considered the quantization of several algebras, such as [11–18]. These algebras are all centerless. The case with center is similar.

In order to study the precise boundary conditions for the gauge field describing the theory, the super-BMS₃ algebra was introduced in [19, 20]. In [19], the author applies the construction to three-dimensional asymptotically flat $N = 1$ supergravity, whose algebra of surface charges has been shown to realize the centrally extended super-BMS₃ algebra. In this article, we study quantization of centerless super-BMS₃ algebra W .

The centerless super-BMS₃ algebra W is an infinite-dimensional Lie superalgebra over \mathbb{C} with basis $\{L_m, P_m, Q_p \mid m \in \mathbb{Z}, p \in \varepsilon + \mathbb{Z}\}$ ($\varepsilon = 0$ or $1/2$) and satisfying the following relations:

$$\begin{aligned} [L_m, L_n] &= (m - n)L_{m+n}, [L_m, P_n] = (m - n)P_{m+n}, \\ [L_m, Q_p] &= \left(\frac{m}{2} - p\right)Q_{m+p}, [Q_p, Q_q] = P_{p+q}, \\ [P_m, P_n] &= [P_m, Q_p] = 0, \end{aligned} \quad (1)$$

for any $m, n \in \mathbb{Z}$ and $p, q \in \varepsilon + \mathbb{Z}$ ($\varepsilon = 0$ or $1/2$). The fermionic generators Q_p are labeled by (half-)integers in the case of (anti)periodic boundary conditions for the gravitino [19]. Clearly, the \mathbb{Z}_2 -graded W is defined by $W = W_{\bar{0}} \oplus W_{\bar{1}}$, where $W_{\bar{0}} = \{L_m, P_m \mid m \in \mathbb{Z}\}$ and $W_{\bar{1}} = \{Q_p \mid p \in \varepsilon + \mathbb{Z}\}$. W contains the Witt algebra. The Lie super-bialgebra structures of W have been determined in [21]. The non weight modules of W have been studied in [20].

In this article, we study quantization of centerless super-BMS₃ algebra W . In Section 2, we use the general method of quantization by Drinfel'd twist to quantize explicitly the Lie

bialgebra structures on W and obtain a family of noncommutative and noncocommutative Hopf superalgebras. The main result of the article is stated in Theorem 18.

2. Quantization of W

Theorem 1 (see [21]). *Every Lie super-bialgebra structure on W is a triangular coboundary Lie super-bialgebra.*

Proof. The super-BMS₃ algebra W in this article is the centerless case of that. By [21], we can deduce that every Lie super-bialgebra structure on W is a triangular coboundary Lie super-bialgebra. \square

Definition 2 (see [11]). Let W be a Lie superalgebra containing linearly independent elements a and b satisfying $[a, b] = kb$ with $|a| = |b| = 0$ and $0 \neq k \in \mathbb{C}$. Then, we set $r = a \otimes b - b \otimes a$ and define a linear map $\delta = \delta_r : L \rightarrow L \otimes L$ by requiring that

$$\begin{aligned} \delta_r(x) = & (-1)^{|r||x|} x \cdot r = (-1)^{|r||x|} ([x, a] \otimes b + (-1)^{|a||x|} a \otimes [x, b] \\ & - [x, b] \otimes a - (-1)^{|b||x|} b \otimes [x, a]) \end{aligned} \quad (2)$$

for all $x \in W$. Then, δ_r equips W with the structure of a triangular coboundary Lie super-bialgebra.

Definition 3 (see [11]). A superalgebra (H, μ, ι) is a superspace H equipped with a unit $\iota : \mathbb{C} \rightarrow H$, an associative product $\mu : H \otimes H \rightarrow H$ respecting the grading, and the identity element $1 \in H_{\bar{0}}$. A Hopf superalgebra $(H, \mu, \iota, \Delta, S, \varepsilon)$ is a superalgebra (H, μ, ι) equipped with a coproduct $\Delta : H \rightarrow H \otimes H$, a counit $\varepsilon : H \rightarrow \mathbb{C}$, and an antipode $S : H \rightarrow H$, satisfying certain compatible conditions. Note that the antipode S satisfies $S(xy) = (-1)^{|x||y|} S(y)S(x)$, $\forall x, y \in H$.

Definition 4 (see [12, 15]). For any element x of a unital R -algebra (R is a ring) and $a \in R$, $r, k \in \mathbb{N}^+$, we set

$$\begin{aligned} x_a^{(r)} &= (x+a)(x+a+1) \cdots (x+a+r-1), \\ x_a^{[r]} &= (x+a)(x+a-1) \cdots (x+a-r+1), \\ \binom{a}{r} &= \frac{a(a-1) \cdots (a-r+1)}{r!}, \\ \binom{a}{r}_k &= \frac{a(a-k) \cdots (a-(r-1)k)}{r!}. \end{aligned} \quad (3)$$

In particular, we set $x_0^{(r)} = x^{(r)}$, $x_0^{[r]} = x^{[r]}$, and $x_a^{(0)} = 1$, $x_a^{[0]} = 1$.

Lemma 5 (see [12, 15]). *For any element x of a unital \mathbb{C} -algebra and $a \in \mathbb{C}$, $r, s, t \in \mathbb{N}^+$, one has*

$$\begin{aligned} x_a^{(s+t)} &= x_a^{(s)} x_{a+s}^{(t)}, \quad x_a^{[s+t]} = x_a^{[s]} x_{a+s}^{[t]}, \quad x_a^{[s]} = x_{a-s+1}^{(s)}, \\ \sum_{s+t=r} \frac{(-1)^t}{s!t!} x_a^{[s]} x_b^{(t)} &= \binom{a-b}{r} = \frac{(a-b) \cdots (a-b-r+1)}{r!}, \\ \sum_{s+t=r} \frac{(-1)^t}{s!t!} x_a^{[s]} x_{b-s}^{[t]} &= \binom{a-b+r-1}{r} = \frac{(a-b) \cdots (a-b+r-1)}{r!}. \end{aligned} \quad (4)$$

Definition 6 (see [1]). Let $(H, \mu, \iota, \Delta_0, S_0, \varepsilon)$ be a Hopf superalgebra. A Drinfel'd twist \mathcal{F} on H is an invertible element in $H \otimes H$ such that

$$\begin{aligned} (\mathcal{F} \otimes 1)(\Delta_0 \otimes Id)(\mathcal{F}) &= (1 \otimes \mathcal{F})(Id \otimes \Delta_0)(\mathcal{F}), \quad (\varepsilon \otimes Id)(\mathcal{F}) \\ &= 1 \otimes 1 = (Id \otimes \varepsilon)(\mathcal{F}). \end{aligned} \quad (5)$$

Lemma 7 (see [22]). *Let $(H, \mu, \iota, \Delta_0, S_0, \varepsilon)$ be a Hopf superalgebra and \mathcal{F} be a Drinfel'd twist on H . Then, $w = \mu(Id \otimes S_0) \mathcal{F}$ is invertible in H with $w^{-1} = \mu(Id \otimes S_0) \mathcal{F}^{-1}$. Moreover, we denote $\Delta : H \rightarrow H \otimes H$ and $S : H \rightarrow H$ by*

$$\begin{aligned} \Delta(x) &= \mathcal{F} \Delta_0(x) \mathcal{F}^{-1}, \\ S(x) &= w S_0(x) w^{-1}, \quad \forall x \in H. \end{aligned} \quad (6)$$

Then, $(H, \mu, \iota, \Delta, S, \varepsilon)$ is a new Hopf superalgebra, which is called twisting of H by the Drinfel'd twist \mathcal{F} .

Lemma 8 (see [12, 15]). *For any elements x, y in an associative algebra, $p \in \mathbb{N}$, one has*

$$xy^p = \sum_{k=0}^p (-1)^k \binom{p}{k} y^{p-k} (ady)^k(x). \quad (7)$$

Definition 9. Let $U(W)$ be the universal enveloping algebra of W and $(U(W), \mu, \iota, \Delta_0, S_0, \varepsilon)$ be the standard Hopf algebra structure on $U(W)$. Then, the coproduct Δ_0 , the antipode S_0 , and the counit ε are defined by

$$\begin{aligned} \Delta_0(X) &= X \otimes 1 + 1 \otimes X, \\ S_0(X) &= -X, \\ \varepsilon(X) &= 0, \quad \forall X \in W. \end{aligned} \quad (8)$$

In particular, $\Delta_0(1) = 1 \otimes 1$ and $S_0(1) = \varepsilon(1) = 1$.

Lemma 10. *Let $X = -(1/m)L_0$ and $Y = P_m$ ($m \in \mathbb{Z}^*$); we have $[X, Y] = Y$; then, X and Y generate a two-dimensional nonabelian subalgebra of W .*

Proof. For any $m \in \mathbb{Z}^*$, by $[L_0, P_m] = -mP_m$, we can get $[X, Y] = Y$. Then, we set $r = X \otimes Y - Y \otimes X$. By Definition

2, δ_r equips W with the structure of a triangular coboundary Lie super-bialgebra. \square

Lemma 11. For any $a \in \mathbb{C}$, $n \in \mathbb{Z}$, $p \in \varepsilon + \mathbb{Z}$, $m \in \mathbb{Z}^*$, and $r \in \mathbb{N}^+$, we have

$$L_n X_a^{(r)} = X_{a-(n/m)}^{(r)} L_n, L_n X_a^{[r]} = X_{a-(n/m)}^{[r]} L_n, \quad (9)$$

$$P_n X_a^{(r)} = X_{a-(n/m)}^{(r)} P_n, P_n X_a^{[r]} = X_{a-(n/m)}^{[r]} P_n, \quad (10)$$

$$Q_p X_a^{(r)} = X_{a-(n/m)}^{(r)} Q_p, Q_p X_a^{[r]} = X_{a-(n/m)}^{[r]} Q_p. \quad (11)$$

Proof. We only prove that (9), (10), and (11) can be obtained similarly. We prove (9) by induction on r . It is true for the case of $r = 1$. Assume the case of r is also true; then, we consider the case of $r + 1$; we have

$$L_n X_a^{(r+1)} = L_n X_a^{(r)} (X + a + r) = X_{a-(n/m)}^{(r)} L_n (X + a + r), \quad (12)$$

$$[X, L_n] = -\frac{1}{m} [L_0, L_n]. \quad (13)$$

By (12) and (13), we have

$$\begin{aligned} X_{a-(n/m)}^{(r)} L_n (X + a + r) &= X_{a-(n/m)}^{(r)} \left(X L_n - \frac{n}{m} L_n + (a + r) L_n \right) \\ &= X_{a-(n/m)}^{(r)} \left(X + a - \frac{n}{m} + r \right) L_n \\ &= X_{a-(n/m)}^{(r+1)} L_n. \end{aligned} \quad (14)$$

Therefore, we deduce that $L_n X_a^{(r+1)} = X_{a-(n/m)}^{(r+1)} L_n$, which means that $L_n X_a^{(r)} = X_{a-(n/m)}^{(r)} L_n$ is true. The proof of $L_n X_a^{[r]} = X_{a-(n/m)}^{[r]} L_n$ is similar. \square

Lemma 12. For any $a \in \mathbb{C}$, $s, r \in \mathbb{N}^+$, we have

$$Y^s X_a^{(r)} = X_{a-s}^{(r)} Y^s, Y^s X_a^{[r]} = X_{a-s}^{[r]} Y^s. \quad (15)$$

Proof. The case of $s = r = 1$ is clear. If $s = 1$, we prove (15) by induction on r . We have

$$\begin{aligned} Y X_a^{(r+1)} &= Y X_a^{(r)} (X + a + r) = X_{a-1}^{(r)} Y (X + a + r) \\ &= X_{a-1}^{(r)} (X Y - Y + (a + r) Y) \\ &= X_{a-1}^{(r)} (X + a + r - 1) Y = X_{a-1}^{(r+1)} Y, \end{aligned} \quad (16)$$

which means that

$$Y X_a^{(r)} = X_{a-1}^{(r)} Y. \quad (17)$$

Suppose that $Y^s X_a^{(r)} = X_{a-s}^{(r)} Y^s$. By (17), we have

$$Y^{s+1} X_a^{(r)} = Y X_{a-s}^{(r)} Y^s = X_{a-(s+1)}^{(r)} Y Y^s = X_{a-(s+1)}^{(r)} Y^{s+1}. \quad (18)$$

The proof of $Y^s X_a^{[r]} = X_{a-s}^{[r]} Y^s$ is similar. \square

Lemma 13. For any $m \in \mathbb{Z}^*$, $n \in \mathbb{Z}$, $p \in \varepsilon + \mathbb{Z}$, and $r \in \mathbb{N}^+$, we have

$$L_n Y^r = Y^r L_n + r Y^{r-1} (n - m) P_{m+n}, \quad (19)$$

$$P_n Y^r = Y^r P_n, \quad (20)$$

$$Q_p Y^r = Y^r Q_p. \quad (21)$$

Proof. We only prove (19) and (21). The proof of (20) is similar.

$$\begin{aligned} L_n Y^r &= \sum_{k=0}^r (-1)^k \binom{r}{k} Y^{r-k} (adY)^k L_n = Y^r L_n + r Y^{r-1} (n - m) P_{m+n}, \\ Q_p Y^r &= \sum_{k=0}^r (-1)^k \binom{r}{k} Y^{r-k} (adY)^k Q_p = Y^r Q_p. \end{aligned} \quad (22)$$

\square

Definition 14 (see [12, 15]). For $a \in \mathbb{C}$, set

$$\mathcal{F}_a = \sum_{r=0}^{\infty} \frac{(-1)^r}{r!} X_a^{[r]} \otimes Y^r t^r, \quad (23)$$

$$F_a = \sum_{r=0}^{\infty} \frac{1}{r!} X_a^{(r)} \otimes Y^r t^r,$$

$$U_a = \mu(S_0 \otimes I_d) F_a, \quad (24)$$

$$V_a = \mu(I_d \otimes S_0) \mathcal{F}_a.$$

In particular, we set $\mathcal{F} = \mathcal{F}_0$, $F = F_0$, $u = u_0$, and $v = v_0$. Since $S_0(X_a^{(r)}) = (-1)^r X_{-a}^{[r]}$ and $S_0(Y^r) = (-1)^r Y^r$, we have

$$U_a = \sum_{r=0}^{\infty} \frac{(-1)^r}{r!} X_{-a}^{[r]} Y^r t^r V_a = \sum_{r=0}^{\infty} \frac{1}{r!} X_a^{[r]} Y^r t^r. \quad (25)$$

Lemma 15. For $a, b \in \mathbb{C}$, we have $\mathcal{F}_a F_b = 1 \otimes (1 - Yt)^{a-b}$ and $V_a U_b = (1 - Yt)^{-a-b}$; \mathcal{F}_a , F_a , U_a , and V_a are invertible elements with $\mathcal{F}_a = F_a^{-1}$ and $U_a = V_a^{-1}$.

Proof. By (23) and Lemma 5, we have

$$\begin{aligned}\mathcal{F}_a F_b &= \sum_{r,s=0}^{\infty} \frac{(-1)^r}{r!s!} X_a^{[r]} X_b^{(s)} \otimes Y^r Y^s t^r t^s \\ &= \sum_{k=0}^{\infty} (-1)^k \sum_{r+s=k} \frac{(-1)^s}{r!s!} X_a^{[r]} X_b^{(s)} \otimes Y^k t^k \\ &= \sum_{k=0}^{\infty} (-1)^k \binom{a-b}{k} \otimes Y^k t^k = 1 \otimes (1-Yt)^{a-b}.\end{aligned}\quad (26)$$

From (15), (25), and Lemma 5, we obtain

$$\begin{aligned}V_a U_b &= \sum_{r,s=0}^{\infty} \frac{(-1)^r}{r!s!} X_a^{[r]} Y^r X_{-b}^{[s]} Y^s t^{r+s} \\ &= \sum_{k=0}^{\infty} (-1)^k \sum_{r+s=k} \frac{(-1)^s}{r!s!} X_a^{[r]} X_{-b-r}^{[s]} Y^k t^k \\ &= \sum_{k=0}^{\infty} \binom{a+b+k-1}{k} Y^k t^k = (1-Yt)^{-a-b}.\end{aligned}\quad (27)$$

Then, we can deduce that $\mathcal{F}_a = F_a^{-1}$, $U_a = V_a^{-1}$, $\mathcal{F} = F^{-1}$, and $U = V^{-1}$. \square

Lemma 16. For any $m \in \mathbb{Z}^*$, $n \in \mathbb{Z}$, $p \in \varepsilon + \mathbb{Z}$, and $a \in \mathbb{C}$, we have

$$(L_n \otimes 1)F_a = F_{a-(n/m)}(L_n \otimes 1), \quad (28)$$

$$(P_n \otimes 1)F_a = F_{a-(n/m)}(P_n \otimes 1), \quad (29)$$

$$(Q_p \otimes 1)F_a = F_{a-(n/m)}(Q_p \otimes 1), \quad (30)$$

$$(1 \otimes L_n)F_a = F_a(1 \otimes L_n) + (n-m)F_{a+1} \left(X_a^{(1)} \otimes P_{m+n} t \right), \quad (31)$$

$$(1 \otimes P_n)F_a = F_a(1 \otimes P_n), \quad (32)$$

$$(1 \otimes Q_p)F_a = F_a(1 \otimes Q_p). \quad (33)$$

Proof. We only prove (28), (31), and (32); the proof of other equations is similar. \square

By (9) and (23), we have

$$\begin{aligned}(L_n \otimes 1)F_a &= \sum_{r=0}^{\infty} \frac{1}{r!} L_n X_a^{(r)} \otimes Y^r t^r = \sum_{r=0}^{\infty} \frac{1}{r!} X_{a-(n/m)}^{(r)} L_n \otimes Y^r t^r \\ &= F_{a-(n/m)}(L_n \otimes 1).\end{aligned}\quad (34)$$

The proof of (29)–(30) is similar to (28).

By (19) and (23), we have

$$\begin{aligned}(1 \otimes L_n)F_a &= \sum_{r=0}^{\infty} \frac{1}{r!} X_a^{(r)} \otimes (Y^r L_n + rY^{r-1}(n-m)P_{m+n})t^r \\ &= \sum_{r=0}^{\infty} \frac{1}{r!} X_a^{(r)} \otimes Y^r L_n t^r + (n-m) \sum_{r=1}^{\infty} \frac{1}{(r-1)!} X_a^{(r)} \otimes Y^{r-1} P_{m+n} t^r \\ &= \left(\sum_{r=0}^{\infty} \frac{1}{r!} X_a^{(r)} \otimes Y^r t^r \right) (1 \otimes L_n) + (n-m) \sum_{r=0}^{\infty} \frac{1}{r!} X_a^{(r+1)} \otimes Y^r P_{m+n} t^{r+1} \\ &= F_a(1 \otimes L_n) + (n-m) \sum_{r=0}^{\infty} \frac{1}{r!} X_a^{(1)} X_{a+1}^{(r)} \otimes Y^r P_{m+n} t^r \cdot t \\ &= F_a(1 \otimes L_n) + (n-m) \left(\sum_{r=0}^{\infty} \frac{1}{r!} X_{a+1}^{(r)} \otimes Y^r t^r \right) \left(X_a^{(1)} \otimes P_{m+n} t \right) \\ &= F_a(1 \otimes L_n) + (n-m)F_{a+1} \left(X_a^{(1)} \otimes P_{m+n} t \right).\end{aligned}\quad (35)$$

By (21) and (25), we have

$$\begin{aligned}(1 \otimes Q_p)F_a &= (1 \otimes Q_p) \left(\sum_{r=0}^{\infty} \frac{1}{r!} X_a^{(r)} \otimes Y^r t^r \right) = \sum_{r=0}^{\infty} \frac{1}{r!} X_a^{(r)} \otimes Q_p Y^r t^r \\ &= \sum_{r=0}^{\infty} \frac{1}{r!} X_a^{(r)} \otimes Y^r Q_p t^r = F_a(1 \otimes Q_p).\end{aligned}\quad (36)$$

Lemma 17. For any $m \in \mathbb{Z}^*$, $n \in \mathbb{Z}$, $p \in \varepsilon + \mathbb{Z}$, and $a \in \mathbb{C}$, we have

$$L_n U_a = U_{a+(n/m)} L_n + (m-n) U_{a+(n/m)} X_{-a-(n/m)}^{[2]} P_{m+n} t, \quad (37)$$

$$P_n U_a = U_{a+(n/m)} P_n, \quad (38)$$

$$Q_p U_a = U_{a+(n/m)} Q_p. \quad (39)$$

Proof. We only prove (37) and (39); the case of (38) is similar. By (9), (11), (15), (19), and (24), we have

$$\begin{aligned}L_n U_a &= L_n \left(\sum_{r=0}^{\infty} \frac{(-1)^r}{r!} X_{-a}^{[r]} Y^r t^r \right) = \sum_{r=0}^{\infty} \frac{(-1)^r}{r!} L_n X_{-a}^{[r]} Y^r t^r \\ &= \sum_{r=0}^{\infty} \frac{(-1)^r}{r!} X_{-a-(n/m)}^{[r]} L_n Y^r t^r \\ &= \sum_{r=0}^{\infty} \frac{(-1)^r}{r!} X_{-a-(n/m)}^{[r]} (Y^r L_n + rY^{r-1}(n-m)P_{m+n})t^r \\ &= \sum_{r=0}^{\infty} \frac{(-1)^r}{r!} X_{-a-(n/m)}^{[r]} Y^r L_n t^r + \sum_{r=1}^{\infty} \frac{(-1)^r}{(r-1)!} X_{-a-(n/m)}^{[r]} Y^{r-1}(n-m)P_{m+n} t^r \\ &= U_{a+(n/m)} L_n + \sum_{r=0}^{\infty} \frac{(-1)^{r+1}}{r!} X_{-a-(n/m)}^{[r+1]} Y^r (n-m)P_{m+n} t^{r+1} \\ &= U_{a+(n/m)} L_n + (m-n) \sum_{r=0}^{\infty} \frac{(-1)^r}{r!} X_{-a-(n/m)}^{[r]} X_{-a-(n/m)-r}^{[1]} Y^r P_{m+n} t^r \cdot t \\ &= U_{a+(n/m)} L_n + (m-n) \sum_{r=0}^{\infty} \frac{(-1)^r}{r!} X_{-a-(n/m)}^{[r]} Y^r X_{-a-(n/m)}^{[1]} P_{m+n} t^r \cdot t \\ &= U_{a+(n/m)} L_n + (m-n) U_{a+(n/m)} X_{-a-(n/m)}^{[1]} P_{m+n} t,\end{aligned}$$

$$\begin{aligned}
 Q_n U_a &= Q_n \left(\sum_{r=0}^{\infty} \frac{(-1)^r}{r!} X_{-a}^{[r]} Y^r t^r \right) = \sum_{r=0}^{\infty} \frac{(-1)^r}{r!} Q_n X_{-a}^{[r]} Y^r t^r \\
 &= \sum_{r=0}^{\infty} \frac{(-1)^r}{r!} X_{-a-(n/m)}^{[r]} Q_n Y^r t^r = \sum_{r=0}^{\infty} \frac{(-1)^r}{r!} X_{-a-(n/m)}^{[r]} Y^r Q_n t^r \\
 &= U_{a+(n/m)} Q_n.
 \end{aligned} \tag{40}$$

□

Theorem 18. *With the choice of two distinguished elements $X = -(1/m)L_0$ and $Y = P_m$ ($m \in \mathbb{Z}^*$) such that $[X, Y] = Y$ in W , there exists a structure of noncommutative algebra and noncocommutative Hopf algebra structure $(U(W)[[t]], \mu, \iota, \Delta, S, \varepsilon)$ on $U(W)[[t]]$, such that $U(W)[[t]]/tU(W)[[t]] \cong U(W)$, which preserve the product and counit of $U(W)[[t]]$; the coproduct and antipode are defined by*

$$\Delta(L_n) = L_n \otimes (1 - Yt)^{n/m} + 1 \otimes L_n + (n - m) \left(X^{(1)} \otimes (1 - Yt)^{-1} P_{m+n} t \right), \tag{41}$$

$$\Delta(P_n) = P_n \otimes (1 - Yt)^{n/m} + 1 \otimes P_n, \tag{42}$$

$$\Delta(Q_p) = Q_p \otimes (1 - Yt)^{n/m} + 1 \otimes Q_p, \tag{43}$$

$$S(L_n) = -(1 - Yt)^{-n/m} \left(L_n + (m - n) X_{-(n/m)}^{[1]} P_{m+n} t \right), \tag{44}$$

$$S(P_n) = -(1 - Yt)^{-(n/m)} P_n, \tag{45}$$

$$S(Q_p) = -(1 - Yt)^{-(n/m)} Q_p, \tag{46}$$

where $m \in \mathbb{Z}^*$, $n \in \mathbb{Z}$, and $p \in \varepsilon + \mathbb{Z}$.

Proof. We only prove (41), (43), (44), and (46); the cases of (42) and (45) are similar. By Definition 14 and Lemmas 15–17, we have

$$\begin{aligned}
 \Delta(L_n) &= \mathcal{F} \Delta_0(L_n) \mathcal{F}^{-1} = \mathcal{F}(L_n \otimes 1 + 1 \otimes L_n) \mathcal{F}^{-1} \\
 &= \mathcal{F}(L_n \otimes 1) F + \mathcal{F}(1 \otimes L_n) F \\
 &= \mathcal{F} F_{-(n/m)}(L_n \otimes 1) + \mathcal{F} \left(F(1 \otimes L_n) + (n - m) F_1 \left(X^{(1)} \otimes P_{m+n} t \right) \right) \\
 &= (1 \otimes (1 - Yt)^{n/m}) (L_n \otimes 1) + 1 \otimes L_n + (n - m) \\
 &\quad \cdot \left(X^{(1)} \otimes (1 - Yt)^{-1} P_{m+n} t \right) = L_n \otimes (1 - Yt)^{n/m} + 1 \otimes L_n \\
 &\quad + (n - m) \left(X^{(1)} \otimes (1 - Yt)^{-1} P_{m+n} t \right),
 \end{aligned}$$

$$\begin{aligned}
 \Delta(Q_n) &= \mathcal{F} \Delta_0(Q_n) \mathcal{F}^{-1} = \mathcal{F}(Q_n \otimes 1 + 1 \otimes Q_n) \mathcal{F}^{-1} \\
 &= \mathcal{F}(Q_n \otimes 1) F + \mathcal{F}(1 \otimes Q_n) F \\
 &= \mathcal{F} F_{-(n/m)}(Q_n \otimes 1) + \mathcal{F} F(1 \otimes Q_n) \\
 &= Q_n \otimes (1 - Yt)^{n/m} + 1 \otimes Q_n,
 \end{aligned}$$

$$\begin{aligned}
 S(L_n) &= -V L_n U = -V \left(U_{n/m} L_n + (m - n) U_{n/m} X_{-(n/m)}^{[1]} P_{m+n} t \right) \\
 &= -V U_{n/m} \left(L_n + (m - n) X_{-(n/m)}^{[1]} P_{m+n} t \right) \\
 &= -(1 - Yt)^{-(n/m)} \left(L_n + (m - n) X_{-(n/m)}^{[1]} P_{m+n} t \right),
 \end{aligned}$$

$$S(Q_n) = -V Q_n U = -V U_{n/m} Q_n = -(1 - Yt)^{-(n/m)} Q_n. \tag{47}$$

□

Remark 19. We can use the method in this paper to study the quantization of other Lie (super-)algebras in the future.

Remark 20. The case with center is similar, because the center element C can be exchanged. Namely, $[C, W] = 0$.

Data Availability

No data is available.

Conflicts of Interest

The authors declare that they have no conflicts of interest.

References

- [1] V. G. Drinfel'd, "Quantum groups," in *Proceeding of the International Congress of Mathematicians, Vol. 1,2, Berkeley, Calif. 1986*, vol. 1 and 2, pp. 798–820, American Mathematical Society, Providence, RI, 1987.
- [2] P. Etingof and O. Schiffmann, *Lectures on Quantum Groups*, International press, 2002.
- [3] V. G. Drinfel'd, "Constant quasiclassical solutions of the Yang-Baxter quantum equation," *Soviet Mathematics-Doklady*, vol. 273, pp. 667–671, 1983.
- [4] V. G. Drinfel'd, *On some unsolved problems in quantum group theory, Quantum Groups*, Springer, Berlin, Heidelberg, 1992.
- [5] P. Etingof and D. Kazhdan, "Quantization of Lie bialgebras I," *Selecta Mathematica*, vol. 2, no. 1, pp. 1–41, 1996.
- [6] H. Chen, X. Dai, and H. Yang, "Lie bialgebra structures on generalized loop Schrödinger-Virasoro algebras," *Frontiers of Mathematics in China*, vol. 14, no. 2, pp. 239–260, 2019.
- [7] J. Han, J. Li, and Y. Su, "Lie bialgebra structures on the Schrödinger-Virasoro Lie algebra," *Journal of Mathematical Physics*, vol. 50, no. 8, pp. 083504–083820, 2009.
- [8] H. Yang and Y. Su, "Lie super-bialgebra structures on generalized super-Virasoro algebras," *Acta Mathematica Scientia*, vol. 30, no. 1, pp. 225–239, 2010.
- [9] H. Wu, S. Wang, and X. Yue, "Lie bialgebras of Generalized loop Virasoro algebras," *Chinese. Ann. Math.*, vol. 36, 2013.
- [10] X. Dai and B. Xin, "Lie super-bialgebras on generalized loop super- Virasoro algebras," *Bulletin of the Korean Mathematical Society*, vol. 53, no. 6, pp. 1685–1695, 2016.
- [11] L. Yuan and C. He, "Lie super-bialgebra and quantization of the super Virasoro algebra," *Journal of Mathematical Physics*, vol. 57, no. 5, pp. 053508–053515, 2016.
- [12] N. Hu and X. Wang, "Quantizations of generalized-Witt algebra and of Jacobson-Witt algebra in the modular case," *Journal of Algebra*, vol. 312, no. 2, pp. 902–929, 2007.

- [13] J. Bo, L. Yu, and Y. Su, “Quantizations of the W Algebra $W(2, 2)$,” *Acta Mathematica Sinica, English Series*, vol. 27, pp. 647–656, 2011.
- [14] Y. Cheng and Y. Shi, “Quantization of the q -analog Virasoro-like algebras,” *Journal of Generalized Lie Theory and Applications*, vol. 4, no. 1, pp. 98–109, 2010.
- [15] C. Grunspan, “Quantizations of the Witt algebra and of simple Lie algebras in characteristic p ,” *Journal of Algebra*, vol. 280, pp. 145–161, 2004.
- [16] G. Song, Y. Su, and Y. Wu, “Quantization of generalized Virasoro-like algebras,” *Linear Algebra and its Applications*, vol. 428, no. 11-12, pp. 2888–2899, 2008.
- [17] Y. Su, X. Yue, and X. Zhu, “Quantization of the Lie superalgebra of Witt type,” *Journal of Geometry and Physics*, vol. 160, article 103987, 2021.
- [18] X. Yue, Q. Jiang, and B. Xin, “Quantization of Lie algebras of generalized Weyl type,” *Algebra Colloquium*, vol. 16, no. 3, pp. 437–448, 2009.
- [19] G. Barnich, L. Donnay, J. Matulich, and R. Troncoso, “Super-BMS₃ invariant boundary theory from three-dimensional flat supergravity,” *Journal of High Energy Physics*, vol. 1, pp. 1–15, 2017.
- [20] H. Chen, X. Dai, Y. Liu, and Y. Su, “Non-weight modules over the super-BMS₃ algebra,” 2019, <http://arxiv.org/abs/1911.09651>.
- [21] X. Cheng, J. Sun, and H. Yang, “Lie super-bialgebra structures on the super-BMS₃ algebra,” *Algebra Colloquium*, vol. 26, no. 3, pp. 437–458, 2019.
- [22] V. G. Drinfel’d, “Hamiltonian structures on Lie groups, Lie bialgebras and the geometric meaning of classical Yang-Baxter equations,” *Soviet Mathematics-Doklady*, vol. 27, pp. 222–225, 1983.